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6.1 For use with pages 356 -361
Write an inequality that is represented by the graph. ‘ ’ f‘
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Solve the inequality. Graph your solution. | J
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Solve the inequality. i’:‘iraph your solution.
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6.3 For use with pages 369374

Solve the inequality. Graph your solution.
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Solve the maquallty, if possible.
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For use with pages 379-388

Translate the verbal phrase into an inequality. Then graph the inequality.

1. All real numbers that are less than or equal to —3 and greater than
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Solve the inequality. Graph your solution.
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For use with pages 404412

(ell whether the ordered pair is a solution of the inequality.
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